illz . =
SCOTT h.,l_!l‘i}. LIVING

BY DREEW & JONATHAN

ASSEMBLY INSTRUCTION / NOTICE DE MONTAGE
PRODUCT NAME / NUMBER(S) :185-S864SL-100

Description

: Rectangular Cocktail / Table basse

Q PRRQC

x1 Table Top
x1 Dessus de la table

-

x2 Front Stretcher *
x2 Civiére avant

©

x8 Lock washer @5/16"*13*2mm *
x8 Rondelle de blocage @5/16"*13*2mm

x4 Table Legs *
x4 Patas de mesa

<«

x1 Table Bottom *

x1 Dessous de tableau

®

x8 Flat washer @5/16"*19*2mm
x8 Rondelle plate @5/16"*19*2mm

*

o

x2 Side Stretcher +*
x2 Civiére latérale

: *
x8 Allen bolt @5/16"*50mm
x8 Vis a téte creuse hexagonale @5/16"*50mm

© ®

x1 Allen key M4 * x8 Wood Screw #8*40mm X
x1 Clé hexagonale x8 Vis & bois #8*40mm

Replaceable part

Page 1 of 2

Assembly Instructions-Instructions d’assemblage
Made in VietNam / Fabrique en VietNam.



illz . =
SCOTT h.,l_!l‘i}. LIVING

BY DREEW & JONATHAN

ASSEMBLY INSTRUCTION / NOTICE DE MONTAGE

PRODUCT NAME / NUMBER(S) :185-S864SL-100
Description

: Rectangular Cocktail / Table basse

STEP 1
ETAPE 1
E
o)
A
G @
J
C =) S
D
K © 9o STEP 3
/ ETAPE 3
G
K
STEP 2 =
ETAPE 2
J
Replaceable part
Page 2 of 2 Assembly Instructions-Instructions d’assemblage

Made in VietNam / Fabrique en VietNam.



